B Skl (BH5XRRR)

S 65FE BF5ae81 &SRS B 50 B ;g
o7 BB ﬁaﬂf@ = = = ih =

1|41 $ ¥ 8 |WESHCESESEEN38D 60%5tE 11374]  -11,374
o] 4|5 $ B 8L/t IEA 1260| 12,634
4 |10 HEEEES AN (4~685) 720,000 707,366

3] 4|10 SREAS |FER G5 489 4400 702,966
4 4|10 At B8 |BESDBBEPILNL R 10,000] 692,966
5] 4 |11 At B |BEEDHHEH 30,000 662,966
6| 4 |23 GREESE [CMSTREY 385 16,500] 646,466
1| 4 |30 $ ¥ 8 |NESHICESESEEN4E 60%5tE 11,245| 635,221
8] 5|8 At B |BEEDBHE5 30,000 605,221
9| 5|10 At B8 |BESDEBEPILNT R 10,000] 595,221
10] 5|10 EREAE TR G 589 4400 590,821
1] 5|23 GREESE [CMSTRY 4895 16,500] 574,321
12 5 |31 $ ¥ 8 |WESDCHESESEENSE 60%5tE 11,132] 563,189
13] 6 |10 EREAE TR G 689 4400 558,789
14] 6 |10 A # B |BESDEBEPILNT R 10,000] 548,789
15] 6 |13 At B |BBEED@DER 30,000 518,789
16 6 |24 GHREHRSE [CMSHAY 589 16,500] 502,289
17] 71 1 $ ¥ B |NESDICHOESEEN6E 60%:tE 11,076] 491213
7 |10 BEEHESIAN (7~985) 720,000 1211,213
18] 7 |10 EREAE |FBR G TB® 4.400] 1,206,813
19] 7 |10 At B |BESDBBEPILNT R 10,000] 1,196,813
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20| 7 |19 At B |BEEDBnE5 30,000| 1,166,813
21| 7|23 GRS [OVMSHEN 685 16,500] 1,150,313
22| 7 |31 $ ¥ B |[BSSBCHSEEEEATAD 60%5tE 11,328] 1,138,985
23| 8 |10 EREAE TR 5 8B 4,400 1,134,585
24 8 |10 A ¥ B |BEEEBRDEPILNT 10,000] 1,124,585
25| 8 |13 At B |BEED@HHEH 30,000| 1,094,585
26| 8 |23 GREES [CMSTEY 785 16,500] 1,078,085
27| 9 | 2 $ ¥ B |[BSTBICHSEEEEA8AS 60%5tE 10,610] 1,067,475
2] 9| 6 At B |BEEDHHE5 30,000| 1,037,475
29 9 |10 EREAE (TR G5 9B» 4,400 1,033,075
30] 9 |10 A ¥ B |BEEEBRDEPILNT 10,000 1,023,075
31] 9 |23 GREEE [CMSTRY 885 16,500] 1,006,575
39| 9 |30 $ ¥ B |[HUSTBICHSEESEER08S 60%:tE 10,993 995582
10]10 HESHESTAN (10~1285) 720,000 1715582
33| 10/ 10 EREAE |FRK G5 1089 4,400 1,711,182
34| 10]10 At B |BEED@HnER 30,000| 1,681,182
35110/ 10 A ¥ B |BESDEBEPILNT R 10,000] 1,671,182
36| 1023 GREEE [CMSHEY 985 16,500] 1,654,682
37] 10|31 $ B B |[HESBCHSESSEER108S 60%:tE 10,825 1,643,857
381110 EREAE (TR G 1189 4,400] 1,639,457
39] 11]10 At B |BESDEBEPILNT R 10,000] 1,629,457
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40]11[13 A M B |BEEemESH 30,000] 1,599,457
41]11]25 RIS [CMSHESN 1085 16,500 1,582,957
42| 12| 2 = B 8B |BHERICSESBER1182 60%it 11,062 1,571,895
3] 12[10 SRBAL |FER G 1289 4,400 1,567,495
44]12[10 At B | BEEEBBESPILNT R 10,000] 1,557,495
45]12[10 GRS |RBLR— ROV YILT « VIR 1,895,844 -338,349
46]12]15 HRTEE | tBsREETIAN UESHRS Fo8 10,000]  -348,349
47]12|23 At B | BSEE RS S5 30,000 —378,349
48] 12|23 RIRGEE [CMSHEE 1185 16,500  -394,849
49] 1|6 s % B |BEHERICSESBER128S 60%iE 10,764 -405,613
1|10 BEEBBSIAN (1 ~38%) 720,000 314,387
s0] 1 [10 SRBAL |[HER G 189 4,800 309,587
51] 1 [10 A B |BEEemESR 30,000] 279,587
52] 1 [10 At B | BEEEBBESPILNT R 10,000 269,587
53] 1|23 RIBGEE [CMSHEE 1285 16,500] 253,087
54] 130 HRHEE | tBsREETIE EESHE 9,000| 244,087
55| 1 |31 = B B |BEEHCASESEER18S 60%:LE 10,963] 233,124
56] 2 |10 SREAL |HER G 289 4,800 228324
57] 2 |10 At B | BEED RS SE 30,000] 198,324
58] 2 [10 At B | BEEERBESPILNT R 10,000 188,324
59] 2 |25 RBARE |CMSHAEN 189 16,500 171,824
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60| 2 |28 = ¥ B |BOSERICHSESEER28S 60%:5tE 11,284] 160,540
61 3 [10 SREAE |#BIR G 389 4,800 155,740
62| 3 |10 At % |BOSEEEENS I/ A MY 10,000] 145,740
63] 3 |11 At |Busssmnss 30,000] 115,740
64] 3 24 GBGES [CMSHEE 289 16,500 99,240
65] 3 |31 = ¥ B |BUSERICHSESEER3ES 60%:5tE 11,553 87,687




